Level &4 | The Norwegian Ravine

Given the instructions below, draw the map of the Norwegian Ravine.

Find, to the nearest whole number, the grid references of the points where the Ravine
turns and where it ends. Decide upon your own scale for the map.

Startat A=(0, 0):
Move North for 5 km to reach point B.
Go 8 km due East to reach the point C.
D is the point 6 km due North of C.
Go due West for 4 km to reach E.
F is 3 km due South of E.
To get to G go 2 km West of F and then you are in open water.

Grid references of the following points are:
A=(0,0); B= C= D= F

G=
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